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Question Number : 1 Question Id : 6154753282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

61547512801, 1
61547512802 2
1547512802 2
61547512804, 4

Question Number : 1 Question Id : 6154753282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512801, 1
61547512802 2
61547512803 2
61547512804, 4

Question Number : 2 Question Id : 6154753283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E1547512805. 1
61547512806, 2
61547512807, 3
E1547512808. 4

Question Number : 2 Question Id : 6154753283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512805, 1
61547512806, 2
61547512807, 2
61547512808 4

Question Number : 3 Question Id : 6154753284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

61547512809, 1
61547512810 2
61547512811, =
61547512812 4



Question Number : 3 Question Id : 6154753284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4) (i1) 3 (iv)
Options:
61547512809, 1
61547512810, 2

E1547512811. 3
B154751281%2. 4

Question Number : 4 Question Id : 6154753285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

615475125131
61547512814, 2
61547512815 2
61547512816 4

Question Number : 4 Question Id : 6154753285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547512813, 1
61547512814 2
61547512815 2
61547512816, 4

Question Number : 5 Question Id : 6154753286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

515475128171
61547512818, 2
61547512819, 3
61547512820, 4

Question Number : 5 Question Id : 6154753286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)
(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (e)-(v). (d)-(1v)

Options:

E1E47E12817. 1

E1E47E1Z2E818. 2

E1547512818. 3
BE1547512820. 4

Question Number : 6 Question Id : 6154753287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
615475125211
61547512822 2
1547512523 2
61547512524 4

Question Number : 6 Question Id : 6154753287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512821, 1
61547512822, 2

61547512822, 3
E1547512824. 4

Question Number : 7 Question Id : 6154753288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

615475128251
E1547512826. 2
B1547512827. 3
E1547512828. 4

Question Number : 7 Question Id : 6154753288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547512825. 1
B1547512826. 2
E1547512827. 3
61547512828, 4

Question Number : 8 Question Id : 6154753289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

61547512829 1
E1547512830. 2
E1547512821. 3
BE1547512832. 4

Question Number : 8 Question Id : 6154753289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547512829. 1
B1547512830. 2
61547512821, 3
61547512832 4

Question Number : 9 Question Id : 6154753290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

BE1547512833. 1
B1547512824. 2
61547512835 3
61547512836, 4

Question Number : 9 Question Id : 6154753290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512833, 1
61547512834, 2

61547512835 3
615475128356, 4

Question Number : 10 Question Id : 6154753291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

51547512837, 1
61547512838, 2
61547512839, 3
E1547512840. 4

Question Number : 10 Question Id : 6154753291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (i) 3\ i) (2) (i) 3/ (iid)
(3) (i) 3R (v) (4) (1) 37 (1v)
Options:

61547512837, 1
61547512838, 2
E1547512839. 3
E1547512840. 4

Question Number : 11 Question Id : 6154753292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E1547512841. 1
E1547512842. 2
61547512843, 3
61547512844, 4

Question Number : 11 Question Id : 6154753292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547512841, 1
61547512842 2
61547512842, 3
E1547512844. 4

Question Number : 12 Question Id : 6154753293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E1547512845. 1
E1547512846. 2
BE1547512847. 3
61547512848, 4

Question Number : 12 Question Id : 6154753293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547512845. 1



E1547512846. 2
61547512847, 3
61547512848, 4

Question Number : 13 Question Id : 6154753294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

61547512849 1
61547512850, 2
E1547512851. 3
E1547512852. 4

Question Number : 13 Question Id : 6154753294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547512849. 1
61547512850, 2
E1547512851. 3
E1547512852. 4

Question Number : 14 Question Id : 6154753295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

61547512853, 1
61547512854 2
E1547512855 2
61547512856 4

Question Number : 14 Question Id : 6154753295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547512853. 1
E1547512854. 2
51547512855, 3
51547512856, 4

Question Number : 15 Question Id : 6154753296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



BE1547512857. 1
61547512858, 2
51547512859, 3
61547512860, 4

Question Number : 15 Question Id : 6154753296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512857, 1
61547512858, 2
61547512859 2
61547512860 4

Question Number : 16 Question Id : 6154753297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

61547512861, 1
61547512862, 2
E1547512863. 3
E1547512864. 4

Question Number : 16 Question Id : 6154753297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6, 14
(3) 15, 35 (4) 24, 56
Options:

51547512861, 1
61547512862, 2
61547512862, 3
E1547512864. 4

Question Number : 17 Question Id : 6154753298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E1547512865. 1
61547512866, 2
61547512867, 3
615475128658, 4

Question Number : 17 Question Id : 6154753298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FeferfEd a4 X 2 -

3,8, 18, 38, X, ...

(1) 78 (2) 80

(3) 76 (4) 74
Options:

61547512865, 1
61547512866, 2
E1547512867. 3
E15475128658. 4

Question Number : 18 Question Id : 6154753299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

61547512869, 1
61547512870, 2
E1547512871. 3
B1547512872. 4

Question Number : 18 Question Id : 6154753299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

61547512869, 1
61547512870, 2
E1547512871. 3
B1547512872. 4

Question Number : 19 Question Id : 6154753300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

B1547512873. 1
B1547512874. 2
61547512875 3
61547512876, 4

Question Number : 19 Question Id : 6154753300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



B1547512873. 1
B1547512874. 2
61547512875 3
61547512876, 4

Question Number : 20 Question Id : 6154753301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B1547512877. 1
61547512878, 2
E1547512879. 3
E1547512880. 4

Question Number : 20 Question Id : 6154753301 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Q% (2) 10%
(3) 11% (4) 12%

Options:

61547512877,
1547512878,
E1547512879.
1547512880,

o IR

Question Number : 21 Question Id : 6154753302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547512881, 1
61547512882, 2
61547512882, 3
E1547512884. 4

Question Number : 21 Question Id : 6154753302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E1547512881. 1
E1547512882. 2
BE1547512883. 3
61547512884, 4

Question Number : 22 Question Id : 6154753303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E1547512885. 1
E1547512886. 2
B1547512887. 3
61547512888, 4

Question Number : 22 Question Id : 6154753303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547512885. 1
61547512886, 2
61547512887, 3
61547512888, 4

Question Number : 23 Question Id : 6154753304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E1547512889. 1
61547512830, 2
51547512831, 3
61547512832, 4

Question Number : 23 Question Id : 6154753304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154751288%9. 1
E1547512830. 2
E15475128391. 3
BE15475128392. 4

Question Number : 24 Question Id : 6154753305 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

615475128392 1
61547512834, 2
E1547512835. 3
E15475128396. 4

Question Number : 24 Question Id : 6154753305 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512893, 1
61547512894 2
E1547512895 2
1547512896, 4

Question Number : 25 Question Id : 6154753306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

61547512837, 1
61547512838, 2
E154751289%9. 3
E15475123900. 4

Question Number : 25 Question Id : 6154753306 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

61547512857, 1
615475128398, 2
615475128399, 3
61547512300, 4

Sub-Section Number: 2
Sub-Section 1d: 615475148
Question Shuffling Allowed : Yes

Question Id : 6154753307 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154753308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E1547512901. 1
B1547512902. 2
61547512903, 3
615475123904, 4

Question Number : 27 Question Id : 6154753309 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E1547512905. 1
61547512906, 2
615475123907, 3
61547512308, 4

Question Number : 28 Question Id : 6154753310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E154751290%3. 1
61547512910, 2
61547512911, 3
E154751291%2. 4

Question Number : 29 Question Id : 6154753311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

615475129121
E1547512914. 2
E1547512915. 3
B1547512916. 4

Question Number : 30 Question Id : 6154753312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

BE1547512917.1
B1547512918. 2
515475129145, 3
61547512920, 4

Question Id : 6154753307 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension
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C++ 15%
C 25%
FIETA 12%
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A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 6154753308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

51547512901, 1
615475123902 2
E1547512303. 3
E1547512904. 4

Question Number : 27 Question Id : 6154753309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E1547512905. 1
61547512906, 2
615475123907, 3
61547512308, 4

Question Number : 28 Question Id : 6154753310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

E154751290%3. 1
61547512910, 2
51547512911, 3
E154751291%2. 4

Question Number : 29 Question Id : 6154753311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

615475129121
E1547512914. 2
E1547512915. 3
B1547512916. 4

Question Number : 30 Question Id : 6154753312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E1547512917. 1
B1547512918. 2
515475129145, 3
61547512920, 4

Sub-Section Number: 3
Sub-Section 1d: 615475149
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154753313 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

61547512921, 1
61547512922 2
615475129232 2
61547512924 4

Question Number : 31 Question Id : 6154753313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154751249211
61547512922 2
61547512922, 5
61547512924 4

Question Number : 32 Question Id : 6154753314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:

615475124925 1
61547512926 2
61547512927, 5
61547512928 4

Question Number : 32 Question Id : 6154753314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

61547512925, 1
61547512926 2
61547512927, 2
61547512928 4

Question Number : 33 Question Id : 6154753315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
61547512929, 1



E1547512930. 2
51547512921, 3
61547512932, 4

Question Number : 33 Question Id : 6154753315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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6154751292591
61547512920, 2
61547512931, 3
E1547512932. 4

Question Number : 34 Question Id : 6154753316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(a)-(111). (b)-(1v). (c)-(11). (d)-(2)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E1547512923. 1



B1547512924. 2
61547512935 3
51547512936, 4

Question Number : 34 Question Id : 6154753316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

15475129332 1
61547512924, 2
61547512935
61547512936 4

(1)
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I

(feramo)
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Question Number : 35 Question Id : 6154753317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
6154751249371



E1547512938. 2
61547512925, 3
61547512940, 4

Question Number : 35 Question Id : 6154753317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547512937, 1
61547512938 2
1547512929 2
61547512940 4

Question Number : 36 Question Id : 6154753318 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

61547512941, 1
61547512942 2
61547512943 =
61547512944 4

Question Number : 36 Question Id : 6154753318 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£154751525941. 1

E1547512942 2
E1547512943. 3
B1547512944. 4

Question Number : 37 Question Id : 6154753319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E1547512945. 1
E1547512946. 2
61547512947, 3
615475129458, 4

Question Number : 37 Question Id : 6154753319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

515475129451
61547512946, 2
61547512947, 3
615475129458, 4

Question Number : 38 Question Id : 6154753320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E15475129459. 1
61547512950, 2
61547512951, 3
E154751295%2. 4

Question Number : 38 Question Id : 6154753320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475129491
E1547512950. 2
51547512951, 3



E1547512952. 4

Question Number : 39 Question Id : 6154753321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E1547512953. 1
51547512954, 2
51547512955, 3
61547512956, 4

Question Number : 39 Question Id : 6154753321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547512953, 1
61547512954 2
61547512955 2
615475129356 4

Question Number : 40 Question Id : 6154753322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

51547512957, 1
61547512958, 2
61547512959, 3
E15475123960. 4



Question Number : 40 Question Id : 6154753322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547512957. 1
61547512958, 2
61547512959, 3
61547512360, 4

Question Number : 41 Question Id : 6154753323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E1547512961. 1
B1547512962. 2
B1547512963. 3
61547512964, 4

Question Number : 41 Question Id : 6154753323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
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(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

BE1547512961. 1
B1547512962. 2
E1547512963. 3
61547512964, 4

Question Number : 42 Question Id : 6154753324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

B1547512965. 1
61547512966, 2
E1547512967. 3
61547512968, 4

Question Number : 42 Question Id : 6154753324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
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(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

61547512965, 1
E1547512966. 2
E1547512967. 3
E1547512965. 4

Question Number : 43 Question Id : 6154753325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
1547512969 1
E1547512970 2
1547512971 2
1547512972 4

Question Number : 43 Question Id : 6154753325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512969 1
61547512970, 2

61547512971, 3
61547512972, 4

Question Number : 44 Question Id : 6154753326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

61547512973, 1

61547512974 2

61547512975 2

1547512976 4

Question Number : 44 Question Id : 6154753326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512973, 1
1547512974 2

E1547512975. 3
BE1547512976. 4

Question Number : 45 Question Id : 6154753327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E1547512977.1
E1547512978. 2
B1547512975. 3
61547512980, 4

Question Number : 45 Question Id : 6154753327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

61547512977, 1
E1547512978. 2
61547512979, 3
E1547512980. 4

Sub-Section Number: 4
Sub-Section Id: 615475150
Question Shuffling Allowed : Yes

Question Id : 6154753328 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154753329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E1547512981. 1
B1547512982. 2
61547512983, 3
61547512954, 4

Question Number : 47 Question Id : 6154753330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

51547512985, 1
61547512986, 2
61547512987, 3
E1547512985. 4

Question Number : 48 Question Id : 6154753331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

61547512959, 1
61547512930, 2
E15475129391. 3
BE15475129392. 4

Question Number : 49 Question Id : 6154753332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E15475125983. 1
E15475129394. 2
51547512955 3
51547512956, 4



Question Number : 50 Question Id : 6154753333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

615475129971

E1547512995. 2

61547512999 2

1547512000, 4

Question Id : 6154753328 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
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Sub questions

Question Number : 46 Question Id : 6154753329 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

51547512981, 1
61547512982, 2
61547512982, 3
E1547512984. 4



Question Number : 47 Question Id : 6154753330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

615475129585, 1
E1547512986. 2
E1547512987. 3
61547512988, 4

Question Number : 48 Question Id : 6154753331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

E1547512989. 1
61547512930, 2
515475129581, 3
61547512932 4

Question Number : 49 Question Id : 6154753332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475129392, 1
E1547512954. 2
E1547512935. 3
B15475129356. 4

Question Number : 50 Question Id : 6154753333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547512097, 1
51547512998, 2

6154751293949, 3
61547512000, 4

PART II Museology and Conservation

Section Id : 61547546
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475151
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154753334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a tvpe of exchange based sexual harassment?

(1) Quid Pro Quo (2) Dizerimination harassment
(3) Pzvchological harassment (4) Physical harassment
Options:

51547513001, 1
61547513002, 2
E1547513003. 3
E1547513004, 4

Question Number : 51 Question Id : 6154753334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) THESATF Sodisa z (4) TR 30dTsA
Options:

E1547513001. 1
61547513002, 2
61547513003, 3
E1547513004. 4

Question Number : 52 Question Id : 6154753335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements constitutes “Conservation Audit™

(1) Expenditure on conservation

(2) Number of artifacts and their conservation status
(3) Number of conservators emploved in the museum
(4) Number of conservation projects in previous vear
Options:

E1547513005. 1
E1547513006. 2
61547513007, 3
61547513008, 4

Question Number : 52 Question Id : 6154753335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:

51547513005, 1
61547513006, 2
61547513007, 2
61547512008 4

Question Number : 53 Question Id : 6154753336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The second unit of the tripartite number represents

(1) Section of collection (2)  Year of collection
(3) Serial number of the acquisition (4) Loecation of the collection
Options:

E1547513003. 1
61547513010, 2
61547513011, =
E154751301Z2. 4

Question Number : 53 Question Id : 6154753336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) = (2) U F Ay
(3) =4 Fl FY T (4) TUE T TUH
Options:

61547513009, 1
61547513010, 2
E1547513011. 3
E1547513012. 4

Question Number : 54 Question Id : 6154753337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following groups of steps 1z in the correct order with respect to exhibition
development?

(1) Idea generation. concept development and testing. exhibition development and
summative evaluation

(2) Exhibition development. concept development and testing. 1dea generation and
summative evaluation

(3) Concept development and testing. 1dea generation. exhibition development and
summative evaluation

(4) Idea generation, concept development and testing. summative evaluation. exhibition
development

Options:

615475130121
61547513014, 2
61547513015 3
E1547513016. 4

Question Number : 54 Question Id : 6154753337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547513013, 1
61547513014 2
61547512015 2
61547512016, 4

Question Number : 55 Question Id : 6154753338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following purposes the museum showcases serve?

(a) Protect the objects from air pollution
(b) Protect objects from bioloical agents
{c) Protect objects from theft and vandaliam

(d) Protect objects from dayhight

Choose the correct option :

(1) (a). (b) & (d) (2) (a) & (b)
(3) {a). (b) & (c) (4) (a).(c) & (d)
Options:

515475130171
61547513018, 2
615475130149, 3
61547513020, 4

Question Number : 55 Question Id : 6154753338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

61547513017, 1
1547512018 2
1547512019 2
61547512020, 4

Question Number : 56 Question Id : 6154753339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are true for dioramas?

(a) Most of the natural historv museums have dioramas

(b) It 1= a display technique in which objects are in the foreground amid realistic
surroundings

{c) Full scale dioramas are expensive to develop

(d) Displayv of dioramas occupy a large area of the exhibition space

Choose the correct option :

(1) (a) (b) & (c) (2) (a). (b) & (d)
($H (a). (c) & (d) (4) (a). (b). (c) & (d)
Options:

E1547513021. 1
B1547513022 2
61547513023, 3
61547513024, 4

Question Number : 56 Question Id : 6154753339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Q) (=), (@) =% (7) @ (F), (@) 31k (9)
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Options:

61547513021, 1
E1547513022. 2
61547513022, 3
E1547513024. 4

Question Number : 57 Question Id : 6154753340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are related to front-end analysizs of an exhibition?

(a) Testing ideas and proposals at the very beginning

(h) Its purpose 1s to make the exhibition relevant and appealing to public
(c) It provides flexibility 1n exhibition setting up

(d) It amphfies the work of the museum staff

Choose the correct option :

(1) (a) & (o) (2) (e} & (d)
(3) (a) & (h) (4) (a) & (d)
Options:

615475130251
61547513026, 2
E1547513027. 3
E1547513025. 4

Question Number : 57 Question Id : 6154753340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475130251
E1547513026. 2
B1547513027. 3
51547513028, 4

Question Number : 58 Question Id : 6154753341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An object label in an exhibition should convey

(1) Narrative aspects of the object (2) Basic information about the object
(3) Research scope of the object (4) Information about publication
Options:

615475130291
61547513030, 2
E1547513021. 3
E1547513032. 4



Question Number : 58 Question Id : 6154753341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ATasFz F A 4 faarmers Tae] (2) oAEwF2 F AR A AT TR
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Options:

E1547513029. 1
51547513020, 2
61547513021, 3
61547513032, 4

Question Number : 59 Question Id : 6154753342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Track lighting 1= to be installed 1n an art museum. The height of the ceiling above eve level
1s 10 feet. The light beam should be at an angle of 60° to the horizontal at eyve level to avold
glare and unwanted reflections. At what distance from the wall the track should be
installed?

(1) 5.77 feet (2) 6.77 feet
(3) T7.77 feet (4y B.77 feet
Options:

E1547513023. 1
B1547513024. 2
51547513035, 3
61547513036, 4

Question Number : 59 Question Id : 6154753342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 5.77 iz (2) 6.77 Fiz
(3) 7.77 Fie (4) 8.77 2
Options:

51547513023, 1
61547513024, 2
61547513035 3
61547513036, 4

Question Number : 60 Question Id : 6154753343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The advantage of digital documentation of museum collection includes the following
EXCEPT

(1) Ease of maintaining records

(2) The speed of retrieval of infermations

(3) The improved access to data

(4) Requirement of upgradation of software and hardware
Options:

61547513037, 1
61547513038, 2
E1547513039. 3
E1547513040. 4

Question Number : 60 Question Id : 6154753343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

15475132037, 1
15475120328 2
61547512029, 5
61547512040 4

Question Number : 61 Question Id : 6154753344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following serves as a permanent. complete and accurate record of all the basic

information about each artifact in the collection?

(1) Entry Register (2) Accession Register
(3) Index Cards (4) Catalogue Card
Options:

615475130411
61547513042 2
E1547513043. 3
E1547513044. 4

Question Number : 61 Question Id : 6154753344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

E1547513041. 1
E1547513042 2
51547513043, 3
51547513044, 4

Question Number : 62 Question Id : 6154753345 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s a scientific method of authentication of metal objects?

(1) Viscometre (2) Wharhing Hygrometre
(3) SEM-EDX (4) Lux-Metre
Options:

51547513045 1
61547513046, 2
61547513047, 3
E15475130458. 4

Question Number : 62 Question Id : 6154753345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  Ta=rE= (2) AT =EAHRT
(3)  #9-3 = 99 (SEM-EDX) (4) wEE-Te
Options:

61547513045 1
61547513046, 2
E1547513047. 3
E15475130458. 4

Question Number : 63 Question Id : 6154753346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following committee of ICOM deals with documentation?

(1) ICTOP (2) ICOFOM
(3) ICOMTP (4) CIDOC
Options:

E1547513045. 1
61547513050, 2
61547513051, 3
E154751305Z2. 4

Question Number : 63 Question Id : 6154753346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =m = & =1 91 (ICTOP) (2) % =i 37 vk @ vs (ICOFOM)
(3)  =E = =11 vH # 9 (ICOMTP) (4) =it =mE =t =0 =i (CIDOC)
Options:

E1547513043. 1
E1547513050. 2
51547513051, 3
61547513052, 4

Question Number : 64 Question Id : 6154753347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following groups of steps involved 1n marking numbers on artifacts 1= In

correct order?

(1) Write number, seal surface. clean surface. seal number

(2) Clean surface. seal surface. write number. seal number

(3) Clean surface. write number. seal number. seal surface

(4) Write number. clean surface. seal surface. seal number
Options:

61547513053, 1
61547513054, 2
E1547513055. 3
E1547513056. 4

Question Number : 64 Question Id : 6154753347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547513053, 1
61547513054 2
61547513055 =2
61547512056 4

Question Number : 65 Question Id : 6154753348 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following iz a personal barrier to participation in learning opportunities

offered by a museum?

(1) Location of the museum

(2) Poor educational provisions

(3) Use of Jargon or technical language in exhibitions
(4) Low motivation

Options:

E1547513057. 1
51547513058, 2
51547513055, 3
61547513080, 4

Question Number : 65 Question Id : 6154753348 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frteTiiga 9 i =i Frel 9userd g EH = SH arell g & A9e 5 08 9 5 AT S B ¢
(1)  =Use=E & 2=

(2)  foram % HEAR qEEA

(3)  TEWHE O e wesEe a1 a9 S T

(4) 0 Icd7

Options:
615475120571
61547513058 2



E1547513059. 3
B1547513080. 4

Question Number : 66 Question Id : 6154753349 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following groups of steps involved 1n organization of visits of school

children 1s in correct order. Choose the correct option.

(1) Booking of the wvisit, storyv telling session. writing assignment about the overall

experience. orientation talk in school

(2) Booking of the wvisit. orentation talk in school. story telling session. writing

assignment about the overall experience

(3) Orientation talk in school booking of the visit. writing assignment about the overall

experience, story telling session

(4) Booking of the visit. writing assignment about the overall experience. orientation talk
in school. story telling session

Options:

1547512081, 1

E1547512062 2

E1547513063. 3
51547513064, 4

Question Number : 66 Question Id : 6154753349 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e % s=l % 2R s e S § i =wor 1 i A 5 Od wE H 27w faeen =1
(1) 2 5% =0, FEE G99 1 B, H90 A9 6 90 8 w5 6, G § A 2
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Options:
61547512061, 1

E1547513062. 2
E1547513063. 3
51547513064, 4

Question Number : 67 Question Id : 6154753350 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The decision to deaccession an artifact 1s the responsibility of

(1) Curator (2) Director
(3) Governing body (4) Purchase committee
Options:

E1547513065. 1
61547513066, 2
E1547513067. 3
E15475130658. 4

Question Number : 67 Question Id : 6154753350 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ol Ferfa & Fer (S-veeed ) #1 o o1 el Sameea 27

(1) FA (2) THe=h
(3)  ==rew Hee (wa =) (4) == FEE
Options:

E1547513065. 1
B1547513066. 2
B1547513067. 3
61547513068, 4

Question Number : 68 Question Id : 6154753351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following statements 1s true?

(1) The recognition of education as a specialized function of museums 1s primarily a 21st
century phenomenon

(2) Motivation 1s a key determinent in learning

(3) Guided discovery is characterized by divergent thinking
(4) Problem solving 1s characterized by convergent thinking
Options:

E15475130645. 1
61547513070 2
61547513071, 3
E154751307Z2. 4

Question Number : 68 Question Id : 6154753351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) eI ! & I %07 % =9 8 f0ew =1 g matgs =9 7 21 o vawel i e 7
(2)  Toem mg ° won v OEE e 2
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Options:

51547513069, 1
61547513070 2
61547513071, 2
61547512072 4

Question Number : 69 Question Id : 6154753352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The major collection of an archaeoclogical site museum 18 acquired through

(1) Purchase (2) Gafts
(3) Exchange (4) Excavation
Options:

615475130731
61547513074, 2
E1547513075 3
E1547513076. 4

Question Number : 69 Question Id : 6154753352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Rl AT T9= TR 5 e THEE: TR ATeag ¥ e e S B T

!

(1) e L G (2) Z9ER
(3)  fafr (4) 3¢
Options:

615475130721
61547513074, 2
E1547513075. 3
BE1547513076. 4

Question Number : 70 Question Id : 6154753353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following museum publications falls 1n the category of throwaway

publications?

(1) Monograph (2) Flyers

(3) Exhibition catalogue (4) Guide books
Options:

615475130771
61547513078, 2
61547513079, 3
E1547513020. 4

Question Number : 70 Question Id : 6154753353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(e e G B T a2 P 2 e e B B - e = e e B e

- =

(1) qEATE (2) TR
(3) WIS e (4) TTESEFE
Options:

615475130771
61547513078, 2
61547513073, 3
E1547513020. 4

Question Number : 71 Question Id : 6154753354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 1s ‘Bequest’ i1n museum context?

(1) Method of Exhibition (2) Process of Chemical Treatment
(3) Mode of Collection (4) Procedure of Documentation
Options:

E1547513081. 1
B1547513082. 2
51547513083, 3
61547513054, 4

Question Number : 71 Question Id : 6154753354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TUEd F U24 § IeE (fages) = 2 7

(1) w==F fam (2) AR 3= F i
(3)  =uE =i ugd (4) STHEEIIE # U

Options:



E1547513081. 1
61547513082, 2
51547513083, 3
61547513054, 4

Question Number : 72 Question Id : 6154753355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s made up of proteinous fibres?

(1) Cotton saree (2) dJute bag
(3) Linen robe (4) Silk scarf
Options:

E1547513085. 1
61547513086, 2
B1547513087. 3
61547513088, 4

Question Number : 72 Question Id : 6154753355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fAfafEa § o FF ° TEHE Fee ° a4 2 7

(1) =t = (2) =2 F e
(3) fam== (4) foo= =FrF
Options:

61547513085, 1
E1547513086. 2
E1547513087. 3
51547513088, 4

Question Number : 73 Question Id : 6154753356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The purpose of documenting intangible cultural heritage include the following EXCEPT

(1) To put tangible heritage 1n context
(2) To study impact of changing environment
(3) To make commercial use for generating funds

(4) To preserve it

Options:

51547513089, 1
61547512090 2
1547512091, =2
61547512092, 4



Question Number : 73 Question Id : 6154753356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
STId AFTAF TS T e o 3evAl § FiE o7 miee 2 7

(1) 7 fermat 1 =929 § TG

(2)  uiEdele SEE T H S

(3) Y 2 T o o7 auTieae SUAET AT

(4)  THH T AT
Options:

61547513059, 1
61547513090, 2
615475120491 =
61547512032, 4

Question Number : 74 Question Id : 6154753357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In museums silica gel 1s uszed

(1) To control microclimate (2) To monitor macrochimate
(3) To absorb gaseous pollutants (4) To repel micro organisms
Options:

E1547513083. 1
61547513084, 2
615475130385 3
E1547513036. 4

Question Number : 74 Question Id : 6154753357 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HUETET] | (AT S o 30 e 9 6 e w5 F e mE B 7

(1)  HIsFF=EE? FEeEE oo (2) TIEHIFARHE F A
(3)  TiE wET i A A % fen (4) &= St = e == % fou
Options:

E1547513083. 1
E15475130384. 2
51547513085 3
51547513036, 4

Question Number : 75 Question Id : 6154753358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Differences in surface temperature of a building can be measured by one of the following

instruments. The instrument 1s

(1) X-Ray Diffractometer (2) Protimeter
(3) Thermohygrometer (4) Thermovision
Options:

615475130397, 1
E15475130395. 2
E15475130395. 3
51547513100, 4

Question Number : 75 Question Id : 6154753358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

forl Wae = Taz & a9 § Ao FefaiEd 9§ F v S0 T A S 56T 7 ¢GRS0 R

(1) rr -7 e (2) W=
(3)  ommEETEE (4) wHiEsH
Options:

E1547513087. 1
515475130398, 2
615475130845, 3
61547513100, 4

Question Number : 76 Question Id : 6154753359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The guarterly publication Museum International 1s published by

(1) Tavlor and Fh'ancis (2) Wiley Blackwell and ICOM
(3) Oxford University (4)  American Museum of Natural History
Options:

51547513101, 1
61547513102 2
61547513102, 3
E1547512104. 4

Question Number : 76 Question Id : 6154753359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2= 3 FieE (2) Ta=h == vz W %
(3)  AFEEE HAEL (4) wuTERA SITPE AT e B
Options:

51547513101, 1
61547513102 2
61547513102, 3
E1547512104. 4

Question Number : 77 Question Id : 6154753360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Oddy Test 1s used

(1) To check the suitability of materials used in storage. enclosures. ete
(2) To check the smitability of climate 1in storage. enclosures, ete.

(3) To check the suitability of size of furniture 1n storage. enclosures. etc.
(4) To check the suitability of light 1n storage. enclosures. etc.

Options:

£1547513105. 1
E15475131086. 2
E1547513107. 3
51547513108, 4

Question Number : 77 Question Id : 6154753360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) YUSHY, A AT § UIeE AmiaEt Fi 3ugar Fi F= o+ oo e a2

(2)  HUSEY, IRV g § S i Iegwa 61 A4 & fow o s 2
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(4)  WUSAW, AR S § T i Il i 7= 5 o R e E
Options:
15475121051
1547512106 2
1547512107 2
£1547512108 4



Question Number : 78 Question Id : 6154753361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following museums has a major component of open air exhibits?

(1) Indian Museum, Kolkata
(2) Salarjung Museum. Hvderabad
(3) Indira Gandhi Rashtriva Manav Sangrahalava. Bhopal

(4) Nehru Memorial Museum. Delhi

Options:

1547512109, 1
61547512110, 2
61547512111, =
61547513112 4

Question Number : 78 Question Id : 6154753361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frfafas 4 9 F9-9 Gusred § @ T Y59 U U9 52w R 7
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(2) HARS TUEE, 2aas
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S
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Options:

61547513109, 1
61547513110 2
61547512111, 2
61547512112 4

Question Number : 79 Question Id : 6154753362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ICOM code of professional ethics was adopted unanimously by the 15™® General Assembly of

ICOM meeting held in Argentina in.

(1) 1986 (2) 1990
(3) 1996 (4) 2000
Options:

615475131121
E1547513114. 2



E1547513115. 3
61547513116, 4

Question Number : 79 Question Id : 6154753362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AEHFH H TEEEF AR HEA H AT2E § TR G0 5F SEEW H 93F h LSHA gEmer g

oy o sifEr By = e

(1) 1986 (2) 1990
(3) 1996 (4) 2000
Options:

15475131131
51547513114, 2
51547513115 3
61547513116, 4

Question Number : 80 Question Id : 6154753363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hermitage museum 1s located at

(1) Florence (2)  Amsterdam
(3) Cambrdge (4) Saint Petersburg
Options:

E1547513117.1
51547513118, 2
51547513115, 3
61547513120, 4

Question Number : 80 Question Id : 6154753363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  w=Ang (2) vmZEh
(3) = (4) He g
Options:

615475131171
61547513118, 2
61547513119, 3
61547513120, 4

Question Number : 81 Question Id : 6154753364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The first interim conference of ICOM in 1947 was held at

(1) Mexico (2) Pamns
(3) England (4) Austraha
Options:

E1547513121.1
BE1547513122 2
61547513123 3
61547513124, 4

Question Number : 81 Question Id : 6154753364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T4 1947 T STEHT 1 TEe SANRH T FaEl 5 917
(1) = (2) Tfm

(3) s (4) sl
Options:
61547513121,
E154751312%2,
61547513123,
61547513124,

[ N

Question Number : 82 Question Id : 6154753365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following 1s the new name of the Prince of Wales museum. Mumbai?

(1) Ambedkar Museum

(2) Chhatrapati Shivaj1 Maharaj Vastu Sangrahalava
(3) Nehru Memorial Museum

(4) Birla Muzeum

Options:

E1547513125.1
B1547513126. 2
61547513127, 3
61547513128, 4

Question Number : 82 Question Id : 6154753365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

ffafiga 9 9 =i | s 9om =fsam, ge 1 4= 9m 27
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Options:

615475131251
61547512126 2
1547512127, 2
61547512128 4

Question Number : 83 Question Id : 6154753366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Considering the components of the total offering of a museum. it can be viewed as a

(1) Pure tangible good

(2) Tangible good with accompanyving services

(3) Major service with accompanving goods and services
(4) Pure service

Options:

5154751312591
61547513120, 2
61547513121, 3
61547513132, 4

Question Number : 83 Question Id : 6154753366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol TUeeT F T WET v WAl F 92 W EER Fd 30, 39 FEfngd ¥ ° 96 A T 2

(1) 99 =9 ¥ 54 =5
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(4) U =G H Fa

Options:

61547513129, 1

61547513130, 2

61547513131, =
E1547513132. 4

Question Number : 84 Question Id : 6154753367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1= a non-destructive technique used in examination of cultural
property?

(1) X-Ray radiography (2) Emission spectroscopy
(3) X-Ray diffractrometry (4) Atomic absorption spectrometry
Options:

E1547513123. 1



E1547513124. 2
51547513135 3
51547513136, 4

Question Number : 84 Question Id : 6154753367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TRAFTTF TUM i S § T FEfeiad 9 HE-H1 0F T-afaere a1 7 ¢

1)  TEE-1 e (2) iHeE EEEE
(3) -1 fewamd (4) T UsATEHT ORI
Options:

515475131331
61547513124, 2
61547513135 3
E1547513136. 4

Question Number : 85 Question Id : 6154753368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Demographic research conducted by a museum would reveal

(1) Effectiveness of the museum’s programmes
(2) Profile of visitors

(3) Attitude of public towards the museum

(4) Popularity of the museum

Options:

E1547513137. 1
E1547513138. 2
51547513139, 3
51547513140, 4

Question Number : 85 Question Id : 6154753368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et dumTeE gAT fRT U SRR SEeE § O e 2 7

(1)  =UEre™ & FEFAT i Taqiar (2) FAFIGH F AFE
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Options:

E1547513137. 1
E1547513128. 2
61547513135, 3
51547513140, 4



Question Number : 86 Question Id : 6154753369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following advertizing media has the high repeat exposure?

(1) Newspaper (2) Television
(3) Outdoor (4) Direct Mail
Options:

515475131411
61547513142 2
61547513142 3
E1547513144. 4

Question Number : 86 Question Id : 6154753369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ftatag 8 & $9-5 &9 e 1 2 e v 5 2 7

(1) =9=ER-99 (2) FHTEEA

(3)  #AEesH (4) = T
Options:

E1547513141.1
B1547513142 2
51547513143, 3
61547513144, 4

Question Number : 87 Question Id : 6154753370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the one element of the marketing mix tha can produce revenue for a museum?

(1) Produect (2) Price
(3) Place (Distribution) (4) Promotion
Options:

515475131451
61547513146, 2
61547513147, 3
E15475131458. 4

Question Number : 87 Question Id : 6154753370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3091E (2) Fma
(3) M (faa) (4) daE
Options:

515475131451
61547513146, 2
61547513147, 3
61547513148, 4

Question Number : 88 Question Id : 6154753371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following activities can be considered a project?

(1) Daily guided tours
(2) Surveillance
(3) Setting up a Kiosk for visitors

(4) Responding to a visitors request
Options:

1547512149 1

1547512150 2

1547512151 2

1547512152 4

Question Number : 88 Question Id : 6154753371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FefafEad 8 5 $E-8 F1EF F ITE=E 969 5 85591 2 7
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Options:

61547513149, 1

61547513150, 2

51547513151, 3
61547513152, 4

Question Number : 89 Question Id : 6154753372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The organization structure of the National Museum. New Delhi 1s

(1) Pyramid shaped

(2) Inverted pyvramid
(3) Tower
(4) Flat

Options:

515475131521
61547513154, 2
61547513155 3
E154751315E6. 4

Question Number : 89 Question Id : 6154753372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  fous s =R =

(2) fa=m (sads) fmfrs

(3) EAE L

(4) T2
Options:
61547513152,
61547513154,
61547513155,
615475132156,

[ N Y

Question Number : 90 Question Id : 6154753373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following Acts in chronological order.

(a) The Antiguities and Art Treasures Act

(b) The Venice Charter

(c) The Ancient Monuments and Archaeoclogical sites and remains act

(d) Right to Information Act

Choose the correct option :

(1) (b). (a). (c) & (d) (2) (ec). (b). (d). & (a)
(3) (c). (b). (a) & (d) (4)  (b). (c). (d) & (a)
Options:

E1547513157. 1
61547513158, 2
51547513155, 3
61547513160, 4

Question Number : 90 Question Id : 6154753373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(F)  TIEEN qYT SETT FATH AGHEH

(@) 3 afm =

(T) WA SRR 99T IO T ST A= s

(=) g w1 At Aty

L (=), (), (1) 37 (F) @ (™), (@), (7) 3 (F)
@ (), (@), (%) =k (7) @ (@), (1), (a) =i (%)
Options:

E1547513157. 1
61547513158, 2
51547513155, 3
61547513160, 4

Question Number : 91 Question Id : 6154753374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The marketing term ‘Brand’ can be a

(a) Name
(b) Phraze
(c) Design

(d) Symbol

Choose the correct option :

(1) {a) and (d) (2) (b). (c) and (d)
(3) (a). (c) and (d) (4) (a). (b). (¢) and (d)
Options:

£1547513161. 1
61547513162, 2
E1547512163. 3
B1547513164. 4

Question Number : 91 Question Id : 6154753374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HThiaT &l 352 WU’ Hefaiad 21 T 2

(®) =™

(@) T

(m)  fesmE

(a) wd=®

1) (%) 3w (3) @ (@), (7) s (=)

@  (F), () i (7@) @ (%), (@), (1) = (3)
Options:

615475123161, 1
61547513162, 2
E1547513163. 3
E1547513164. 4

Question Number : 92 Question Id : 6154753375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are examples of preventive conservation?

(a) Control of relative humidity in a showcase
(h) Inter leafing of paper manuscripts

(c) Disinfestation of textiles

(d) Eemoval of salts from stone sculptures

Choose the correct option :

(1) (a) and (c) (2) (b) and (c)
(3) (a) and (b) (4) (b) and (d)
Options:

E1547513165. 1
61547513166, 2
61547513167, 3
61547513168, 4

Question Number : 92 Question Id : 6154753375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(%) =9 O (TRE) | WO SATEa e
(@)  =rre 1 gt F et
() = = i A
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(1) (%) = () 2 (@) #m (m)
(3) (%) #=r (1) 4) (@) 7 (3)
Options:

615475131651
E154751316E. 2
E1547513167. 3
51547513168, 4

Question Number : 93 Question Id : 6154753376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In film archives. films are generally found on the following media.

(a) Cellulose Acetate Tapes

(h) Celluloze Nitrate Tapes

(c) Scotch Tape

(d) Polvester Tape

Choose the correct option :

(1) (a). (b) and (c) (2) (a). (e) and (d)
(3) (b}. (¢} and (d) {4y (a). (b) and (d)
Options:

515475131651
61547513170 2
61547513171, 3
61547513172 4

Question Number : 93 Question Id : 6154753376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TFer If9eErTAl °, TFed aEr=aan H=itoiad 4 & TG 9159 § uTs =it 2 7
(/)  HegeTs UhRZ 2
(@) degers Tz 7

(1) g 29

(')  difequeet 29

Q) (F), (@) = (1) @ (=), (7) 3 (T)

3 (@), (1) % (9) (4) (=), (|) 37 (=)
Options:

615475131691
61547513170, 2
E1547513171. 3
BE1547513172. 4

Question Number : 94 Question Id : 6154753377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Drv powder type fire extinguisher can be uzed on the following tvpes of fire.

(a) Cooking fire

(b) Wood and Paper fire

(c) Electrical fire

(d) Petrol Methane fire

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (a). (b). (c) and (d) (4) (d). (a) and (c)
Options:

E1547513173. 1
B1547513174. 2
61547513175 3
61547513176, 4

Question Number : 94 Question Id : 6154753377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(%) 7= A

(@) st AR HET H AT
(@) fa=a i s

(') g2 e Froam

D (F), (@) =k’ () @ (@), () 3 (=)
3 (%), (@), (1) 3 () @) (=), (%) i ()
Options:

615475131721
E1547513174. 2
E1547513175. 3
51547513176, 4

Question Number : 95 Question Id : 6154753378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following metals are used 1n oddy test?

(a) Copper
(h) Silver
(c) Aluminum

(d) Lead

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)

(3) (a). (b) and (d) (4) (a). (e¢) and (d)



Options:

615475131771
1547512178 2
1547512179 2
61547512180, 4

Question Number : 95 Question Id : 6154753378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475131771
61547513178, 2
E1547513179. 3
E1547513180. 4

Question Number : 96 Question Id : 6154753379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The collection management policy must include

(a) Guidelines which outline. standards and procedures
(b) A section on de-accession and disposal
(c) A section on ethics relating to collecting

(d) In general terms the kind of objects to be collected

Choose the correct option :

(1) {a). (b) and (c) (2)  (b). (c) and (d)
(3) {a). (c) and (d) (4) (a). (b). (c) and (d)
Options:

E1547513181. 1
61547513182, 2
61547513183, 3
61547513184 4

Question Number : 96 Question Id : 6154753379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



1547513181, 1
61547513182, 2
61547513183, 3
61547513154, 4

Question Number : 97 Question Id : 6154753380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are correct in the light of RTI Act 20057

(a) Right to information provide special privilege to women

(b) Right to information 1s not required in the era of Information Technology
(c) Right to information 1s a fundamental right under the Constitution of India
(d) Information is necessary for the protection of the right to life and hberty

Choose the correct option :

(1) (a) and (b) (2y  (b) and (¢)
(3) {c) and (d) (4) (a) and (d)
Options:

515475131851
61547513186, 2
61547513187, 3
E15475121858. 4

Question Number : 97 Question Id : 6154753380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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()  H= F TR AfEes] i T ugm e E
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(7) a3 Tl & SO o S & o g SEvEE R

1) (F) 371 (@) (2 (@) = (7)
3 () ¥ (=) (4) (=) 3 (=)
Options:

E1547513185. 1
61547513186, 2
61547513187, 3
61547513188, 4

Question Number : 98 Question Id : 6154753381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following stages of taxidermy of a bird 1n order

(a) Skinning of the Specimen
(b) Measuring the Specimen
(c) Mounting

(d) Preparing a mannegquin

Choose the correct option :

(1) {a). (b). (c) and (d) (2)  (b). (e). (d) and (a)

(3) (b). (d). {c) and (a) (4) (b). (a). (d) and (c)

Options:



E1547513189. 1
615475131380, 2
515475131351, 3
61547513132 4

Question Number : 98 Question Id : 6154753381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(M) R
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Q) (®), (@), (1) R (T) @ (@), (), (3) 3 (F)

3) (=), (7), (7) i (%) @ (@), (%), (@) s (m)
Options:

515475131859, 1
61547513130, 2
615475131391, =
E1547513152. 4

Question Number : 99 Question Id : 6154753382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are the salient features of RTI 20057

(a) All citizens possess right to information

(h) Information can be obtained within 30 days from the date of request
(c) Women have special privilege for RTI

(d) Public authority 1s not under obligation to provide information

Choose the correct option :

(1) (a) and (b) (2) (c) and (d)
(3) (a) and (c) (4) (a)and (d)
Options:

515475131931
61547513154, 2
615475131385 3
615475131396 4

Question Number : 99 Question Id : 6154753382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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E15475131394. 2
51547513185 3
515475131396, 4

Question Number : 100 Question Id : 6154753383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are characteristics of corporate funding in contrast to foundation and

government funding?

(a) Matching of interest

(h) Give and take approach
(c) Lot of paper work

(d) More types of gifts

Choose the most appropriate option :

(1) (a) and (b) (2) (b)and (¢)
(3) (c) and (d) (4) (b)and (d)
Options:

E1547513197. 1
E1547513198. 2
515475131395, 3
61547513200, 4

Question Number : 100 Question Id : 6154753383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(%) fza & IF=9ar
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Tal e =4

1 (F) R (=) 2 (@) =i (7)
3) () 3 (=) @ (@) =w (7)
Options:

E15475131597. 1
E1547513198. 2
515475131395, 3
61547513200, 4

Question Number : 101 Question 1d : 6154753384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The major take away from MBO are

(a) A way to avoid activity trap

(b) Greater employvee motivation through participation in planning process
(c) Aligning objectives across the organization

(d) Planning for results instead of planning just for work

Choose the correct option :

(1) (b). (c) and (d) {(2) (a). (b) and (d)

(3) (a). (b). (c) and (d) (4) (c) and (d)

Options:



E1547513201. 1
61547513202 2
61547513203, 3
61547513204, 4

Question Number : 101 Question Id : 6154753384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
uH St 31 F THE @ A

(F) ufEf=d 9 5 a9

(@) A W 9PIERT & AT § gEn Hiee T

(M)  fafi= @ve = 32T w1 HEw

P

O (=), (1) =7 () @ (%), (@) 3 (7)
@  (F), (@), (1) 7 (T) (4) () = (=)
Options:

51547513201, 1
61547513202 2
61547513203, 3
61547513204, 4

Question Number : 102 Question Id : 6154753385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Whaich of the following statements are true?

(a) All museums need the same level of security protection

(h) Physical protection can prevent or at least delay entry

(c) Intruder alarm systems prevent an intrusion

(d) One of the biggest threats to museum collections 1z the disease of creeping
complacency

Choose the correct option :

(1) (a) and (c) (2) (b) and (d)
(3) {a) and (h) (4) (c)and (d)
Options:

E1547513205. 1
E1547513206. 2
B1547513207. 3
61547513208, 4

Question Number : 102 Question 1d : 6154753385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) (F) =T () 2 (@) =R (3)
3 (F) ¥ (@) 4) () =71 (3)
Options:

E1547513205. 1
61547513206, 2
61547513207, 3
61547513208, 4

Question Number : 103 Question Id : 6154753386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Steps 1nvolved 1n pre-consumption stage of service consumption include

(a) Awareness of need or need arousal
(b) Information search

(c) Evaluating service performance
(d) Evaluating alternative solutions

Choose the correct option :

(1) {a) and (b) (2) (b). (c) and (d)

(3) (a). (b) and (d) (4) (a). (b). (c) and (d)



Options:

61547513209, 1
61547512210 2
1547512211, 2
615475123212, 4

Question Number : 103 Question Id : 6154753386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) (=) 3k (@) @ (@), (1) =R (7)
@ (%), (@) = (73) @ (%), (@), (7) 37 (F)
Options:

61547513209, 1
E1547513210. 2
E1547513211. 3
B1547513212. 4

Question Number : 104 Question Id : 6154753387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The factors that affect legibility of the exhibition text include

(a) Tvpe style
(h) Age of the reader
(c) Location of the text

(d) Density of information

Choose the correct option :

(1) {a) and (b) (2) (b) and (c)
(3) (b). (c) and (d) (4) (a). (b) and (c)
Options:

E1547513212. 1
61547513214, 2
E1547513215. 3
BE1547513216. 4

Question Number : 104 Question Id ;: 6154753387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E1547513213. 1
61547513214, 2
61547513215 3
61547513216, 4

Question Number : 105 Question Id : 6154753388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following provisions would benefit visuallv-impaired visitors?

(a) Audioguides
(h) Objects for touch by all
(c) Good highting

(d) Amplhification devices

Choose the correct option :

(1) (a) and (b) (2) (a). (b) and (c)
(3 (a). (c) and (d) (4) (a).(b) and (d)
Options:

BE1547513217. 1
61547513218, 2
61547513215, 3
E1547513220. 4

Question Number : 105 Question Id : 6154753388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) (F) @R (@) 2 (%), (@) =i ()
3) (), () 1 (=) 4 (%), (@) =10 (=)
Options:

E1547513217. 1
B1547513218. 2
61547513215, 3
61547513220, 4

Question Number : 106 Question Id : 6154753389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Feedback survevs can provide quantitative understanding of

(a) Profile of visitors

(b) Motivation of visitors

(c) Attitude of vizitors

(d) Level of satisfaction of visitors

Choose the correct option :

(1) (a). (b) and (c) (2) (a). (c) and (d)

(3) (b). (c) and (d) (4) (a). (b). (c) and (d)

Options:



BE1547513221. 1
B1547513222 2
B1547513223. 3
61547513224, 4

Question Number : 106 Question Id : 6154753389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547513221. 1
B1547513222. 2
B1547513223. 3
61547513224, 4

Question Number : 107 Question Id : 6154753390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are characteristics of non-formal education?

(a) It 15 planned and takes place out =1de school system
(b) It has no age limat

(c) It occurs through daily experience

(d) It 15 a spontaneous tvpe of learning

Choose the correct option :

(1) (a) and (b) (2) (c) and (d)
(3) (a). (b) and (c) {4) (a)and (c)
Options:

BE1547513225. 1
B1547513226. 2
E1547513227. 3
61547513228, 4

Question Number : 107 Question Id : 6154753390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475132251
61547513226, 2
E1547513227. 3
B1547513228. 4

Question Number : 108 Question Id : 6154753391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In general. art museums can include in their colletions.

(a) Photographs
(b) Textiles
(c) Prints

(d) Paintings

Choose the correct option :

(1) {a). (c) and (d) (2)  (b). (c) and (d)

(3) {a). (b) and (c) (4) (a). (b). (c) and (d)



Options:

615475132291
61547512220 2
1547512221, 2
615475123232, 4

Question Number : 108 Question Id : 6154753391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT, Fell HUAE 394 AUa1 4 fAefatad s 2 g 7
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(a) f==

T faeT =

Q) (=), (1) 3 (=) @ (@), () 3k (7)

3 (F), (@) 3 (7) @ (%), (@), (1) a7 (=)
Options:

BE1547513229. 1
61547513220, 2
61547513221, 3
E154751323%2. 4

Question Number : 109 Question Id : 6154753392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A person who desires to obtain any information under RTI Act has to

(a) make a request
(h) pay prescribed fee
(c) state the reazon for requesting information

(d) provide personal details including contact information

Choose the correct option :

(1) (a) and (b) (2) (a). (b) and (c)
(3) (b). {(e) and (d) (4) (a). (b). (c) and (d)
Options:

BE1547513233. 1
B1547513234. 2
61547513235 3
E1547513236. 4

Question Number : 109 Question Id : 6154753392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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@ (=), (1) F7E (T) @ (F), (1), (1) 371 (F)

Options:



BE1547513233. 1
615475132234, 2
51547513235 3
E1547513236. 4

Question Number : 110 Question Id : 6154753393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Preventive conservation in a museum 1s a responsibility of

(a) Curator
(h) Gallery staff
(c) Conservator

(d) Director

Choose the correct option :

(1) (a) and (c) (2) (a). (b). (c) and (d)
(3) (a) and (d) (4) (a). (c) and (d)
Options:

61547513237, 1
61547513238, 2
61547513239, 3
E1547513240. 4

Question Number : 110 Question Id : 6154753393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(F) T
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(@) T
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Q (=), (M @ (%), (@), (1), (9)
3  (F), (3 @ (=), (7), (7)
Options:

BE1547513237. 1
E1547513238. 2
61547513235, 3
61547513240, 4

Question Number : 111 Question Id : 6154753394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the RPWD Act 2016 the list of conditions of disability has been expanded. and 1t now also

includes

(a) Acid attack victims
(b) Dwarfiam

(c) Thalassemia

(d) Hard of hearing

Choose the correct option :

(1) (a). (b) and (c) (2)  (b). (c) and (d)
(3) {a). (c) and (d) (4) (a). (b). (c) and (d)
Options:

515475132411
61547513242 2
61547513242, 3
E1547513244. 4

Question Number : 111 Question Id : 6154753394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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@) (&), () =i (@) @) (%), (@), (1) W (7)
Options:

61547513241, 1
E1547513242. 2
B1547513243. 3
61547513244, 4

Question Number : 112 Question 1d : 6154753395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Museology 1s the study of

(a) History of museums

(b) Role of museums in soclety

(c) Technigques related to museum work

(d) Classification of different kinds of museum

Choose the correct option :

(1) (a). (b) and (d) (2)  (b). (¢) and (d)
(3) {a). (c) and (d) (4) (a). (b). (c) and (d)
Options:

515475132451
E1547513246. 2
61547513247, 3
E15475132458. 4

Question Number : 112 Question Id : 6154753395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547513245, 1
615475123246 2
E15475123247. 2
61547512248, 4

Question Number : 113 Question Id : 6154753396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Accession number assigned to an object In a museum

(a) establishes the museum’s legal ownership

(b) indicates the chronological entry of the object into the collection
(c) distinguishes the object from all other objects 1n the collection
(d) 1dentifies the current location in the museum

Choose the correct option :

(1) (a). (b). (c) and (d) (2) (b). () and (d)
(3) (a). (c) and (d) (4) (b) and (c)
Options:

615475132491
61547513250, 2
E1547513251. 3
BE1547513252. 4

Question Number : 113 Question Id : 6154753396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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@  (F), () = (79) (4) (=) = ()
Options:

5154751324591
61547513250, 2
61547513251, 3
61547513252 4

Question Number : 114 Question Id : 6154753397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following steps are involved 1n the preparation of a miniature painting?
(a) Application of gold leaf

(b) Application of colour

(c) Application of varnish

(d) Application of thin white wash

Choose the correct option :

(1) (d). (b) & (a) (2)  (d). (b). (a) & (c)
(3) (b). (a) & (c) (4) (d).(a) & (c)
Options:

£154¥513255. 1



E1547513254. 2
51547513255, 3
61547513256, 4

Question Number : 114 Question 1d : 6154753397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e o o e Freafeion § 4 F-8 = e 27

(%) =07 T =T

(M) =i

(&)  Taet whE T S

L (=), (@), (F) 2 (=), (@), (%), (1)
3 (@), (=), (1) @ (@), (%), (1)
Options:

615475132521
E1547513254. 2
E1547513255. 3
61547513256, 4

Question Number : 115 Question Id ;: 6154753398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foam type extinguishers can be used for which of the following tyvpes of fires?

(a) Methane

(b) Wood
(c) Potassium
(d) Petrol

Choose the correct option :

(1) (a) and (c) (2) (a) and (d)
(3) (b) and (c) (4) (b) and (d)
Options:

61547513257, 1
E1547513258. 2
51547513259, 3
B1547513260. 4

Question Number : 115 Question 1d : 6154753398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



BE1547513257. 1
61547513258, 2
61547513259, 3
61547513260, 4

Question Number : 116 Question Id : 6154753399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following materials used 1n conservation with their respective sources.

(a) Furu-nori (1)  Algae

(b) Shellac (11 Wheat
(¢) Copal (111) Insect

(d) Funori (1v) Tree

Choose the correct option from those given below :

(1) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)
(2) (a)-(1). (b)-(1). (e)-(v). (d)-(ii1)

(3) (a)-(iv), (b)-(i1i). (e)-(1). (d)-(ii)
(4) (a)-(11), (b)-(iii). (e)-(iv). (d)-(1)
Options:

61547513261, 1

61547513262, 2

61547513263, 3

61547513264, 4

Question Number : 116 Question Id : 6154753399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (F)-(i1). (|)-@). (7)-@A1)., (T)-Gv)
(2 (F)-(). (@)-G1). (7)-(v), (F)-(1id)
(3) (%)-@v). (=@)-(1). (7)-@). (7)-(1)

@ (F)-QD). (=), (7)-Gv). ()-0)
Options:
615475132611
61547513262 2
61547513263 3
61547512264 4

Question Number : 117 Question Id : 6154753400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the parts of the accession number 956.24.8.2 in ILast I with what they represent 1n

List II.

List I List IT
(a) 9536 (11  Object number 1n the accession
by 24 (1) Related part of the object
(c) B (111) Year
(d) 2 (1v) Serial number of the accession

Choose the correct option :

(1) (a)-(1). (b)-(1). (c)-(111). (d)-(1v)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(4) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)

Options:

15475132651
E1547513266. 2
1547513267, 5
615475123268, 4

Question Number : 117 Question Id : 6154753400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4 (F)-(), (@)-Q. (7)-Gv). (9)-(1)

Options:

61547513265, 1
61547513266 2
61547513267, 2
1547513268 4

Question Number : 118 Question Id : 6154753401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the education psychologists. in List I with their theories in Last I

List I List II
(a) Jean Piaget (1)  Experiential Education
{b) John Dewey (11) Social Development Theory
(c) Lev Vygotsky (111) Theory of cognitive developement
(d) Howard Gardner (iv) Theory of multiple intelligencies

Choose the correct option :

(1) (a)-(111). (b)-(11). (¢)-(1v}. (d)-(1)
(2) (a)-(11). (b)-(111). (c)-(2). (d)-(1v)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(11). (b)-(1). (e)-(11). (d)-(v)

Options:

61547513269 1
61547513270, 2
61547513271,
61547513272 4

Question Number : 118 Question Id ;: 6154753401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3 (F)-Gv). (9@)-Q). (7)-G1), (=)-(1d)

(4)  (F)-@id). (F)-@). (7)-ai). (F)-@v)



Options:

61547513269, 1
615475123270 2
15475123271, 2
615475123272, 4

Question Number : 119 Question Id : 6154753402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the tvpes of lamps in List I with their use or type of effect created by them in List IL

List I List IT
(a) Low-voltage spot lights (1)  Evenly distributed. flat quality of light
(b)  Fluoroscent tube (1) Used to highlight large objects or

create pools of light

(c) Tungsten spot light (1) Ideal to 1lluminate small objectz with a
beam of light

(d) Low-pressure sodium lamps (1v) Monochromatic vellow color/light

Choose the correct option :

(1) {a}-(111). (b)-(1). (e)-(11). (d}-(1%)
(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v )
(3) (a)-(111). (b)-(wv). (e)-(11). (d)-(1)
{(4) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
Options:

61547513273 1

£1547513274 2

61547513275 3
E1547513276. 4

Question Number : 119 Question Id : 6154753402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (=)-(1). (@)-(v). (1)-@1). (F)-(1)
@ (F)-(v). (T@)-@i). (7)-(). (7)-0)

Options:

615475132731
615475123274 2
E1547513275 2
615475123276, 4
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(111)
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Question Number : 120 Question Id : 6154753403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Match the segmentation varables in List I with consumer groups 1n List IT.

Last I List IT
(a) Geographic (1) Non-users
(b) Demographic (11) Ambitious
(c) Psychographic (111) Urban
(d) Behavioral (1v) Illiterate

Choose the correct option from those given below :

(1) (a)-(111). (b)-(11). (e)-(1v). (d)-(1)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

(4) (a)-(1v), (b)-(111). (c)-(1). (d)-(11)
Options:

61547513277, 1

61547513278, 2

51547513279, 3

51547513280, 4

Question Number : 120 Question Id : 6154753403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547513277, 1
61547513278 2
E15475123279. 2
61547512280, 4

Question Number : 121 Question Id : 6154753404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the disasters in List I with the response to minimize risks in List II.

Tast T List IT
(a) Flood (1)  Call a professional exterminator
{(b) Tornado (11) Store small objects 1n carved blocks of

polvethylene that have been cut to the
shape of the object

(¢) Insect Invasion (111) Move evervone away from glass walls.
windows or partitions

(d) Earthgquake (1v) Storing ohjects off the ground

Choose the most appropriate option from those given below :

(1) (a)-(1v). (h)-(11). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). ()-(1). (d)-(11)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(1v), (b)-(111), (e)-(1). (d)-(11)

Options:

1547513281, 1
61547513282 2
615475123282
615475132584 4

Question Number : 121 Question Id : 6154753404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HA-1H 21 T2 3TEreT 1 G-I 39 F10EH F1 a9 534 i FrarE & @9 0w

-1 HI-11
(/) =3 () T T e i e
(@) =zl (i) AU * A T SAH 5F FATH
% SRR %+ FEN EEl T F, H Bl
M) ==l w1 EEe (i) =i i daw, fastE @ a9 g
(1) ) e & ey
(7) (iv) el = g T S0 qUsiig

S fou T feereai B © A T =

(1 (F)-Gv), (@)-@1), (7)-(11), (F)-@)
(2)  (=)-@iD). (")-@v). (7)-@1). (7))
(3) (F)-Gi). (=@)-@). (7)-@v), (F)-(iii)
(4) (%)-(1v), (|@)-(u1), (71)-(1), (7)-(11)

Options:

L1E47E1Z2281. 1

L1E47E1Z282. 2

B1547513283. 3
61547513284, 4

Question Number : 122 Question 1d : 6154753405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Matech the storage unit in List I with the recommended maximum floor area that they can

occupy 1n the storage in Last II.

Last I List IT
(a) Pellets for keeping heavy objects (1) 35% —45%
(b) Shelving units (1) 25%
(¢) Drawing cabinets (1) 70% — 80%
(dy Compacters (High Density Units) (1v) 60%

Choose the correct option from those given below :

(1) (a)-(11), (b)-(1). (¢)-(1v). (d)-(111)
(2)  (a)-(). (b)-(1). (e)-(1ii), (d)-(iv)
(3)  (a)-(1). (b)-(). (c)-(xv). (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(111), (d)-(1)

Options:

615475132851
E1547513286. 2
61547513287, 5
615475123288, 4

Question Number : 122 Question Id : 6154753405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ()-(1). (F)-@). (7T)-Gv). ()-(11)
@) (F)-@. (@)-@). (7)-@). (F)-Gv)
3 (F)-@i). (@)-@. (7)-@v). (7)-D)
@ (F)-Gv). (@)-GD). (7)), (9)-6)

Options:
615475132551

E1547513286. 2
BE1547513287. 3
61547513288, 4

Question Number : 123 Question Id : 6154753406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match museums 1n List I with their vear of establishment in Last II.

List I List IT
(a) National Museum., Janpath (1) 1814
(b) Government Museum. Egmore, Chennal () 1922
(¢) Indian Museum, Kolkata (1) 1949

(d) Prince of Wales Museum, Mumbai (Chatrapti Shivajp Maharaj (v) 1851
Vastu Sagrahalya)

Codes:

(1) (a)-GD. (b)-(). (e)-(1v). (d)-(ii1)
(2) (2. (b)-(v). (¢)-(id). (d)-()
(3) (a)-(11), (b)-(1v). (c)-(1). (d)-(11)
(4 (a)-GD. (b)-Av). (e)-(). (d)-(iii)

Options:

61547513289, 1
61547512290 2
£1547512291. 2
61547512292, 4

Question Number : 123 Question Id : 6154753406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(D) (F)-(11). (|)-(1). (7T)-(1v), (T)-(ii1)
2  (F)-Gi), (@)-Gv). (71)-G). (F)-G)
(3 (F)-@iD), (@)-Gv). (71)-G), (F)-G)
@ (F)-@. (@)-av). (7)-Q), (F)-1)

Options:
1547512289 1

E1547513230. 2
B15475132391. 3
B1547513252. 4

Question Number : 124 Question 1d : 6154753407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following groups of steps involved in implementation of IPM 1s in correct

order of their execution?

(1) Detect. Respond, Block. Treat, Avoid
(2) Block, Treat. Respond, Avoid, Detect
(3) Avoid. Block, Detect, Respond., Treat

(4) Respond, Detect, Treat, Avoid, Block
Options:

15475123293 1

61547513294 2

51547513295 2

61547513296 4

Question Number : 124 Question 1d : 6154753407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =1fs, =3ge, T, 399E, TRER
(3)  WiER, T, ATYAH, A, IER

()  HfEFw, A, S9ERE, THEN, T

Options:

61547513293, 1
615475123294 2
61547513295 2
61547513296 4

Question Number : 125 Question 1d : 6154753408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following groups of pH values 1s in order of decreasing alkalinity?

(1) 7.9.5,10, 12
(2) 9.5,10,12, 7
(3) 10, 12,7, 95
(4) 12, 10.9.5. 7

Options:

£15475132497. 1
615475123298, 2
615475123299,
61547513200 4

Question Number : 125 Question Id ;: 6154753408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

pH 9741 % f=feifias o9zl 4 4 HH-a1 AdiEda & g2d wa H 27

(1) 7,9.5, 10, 12
(2) 95, 10,12, 7
(3) 10: 12 7. 956

(4) 12.-10.9.5,7

Options:
61547513297, 1
61547513295 2



E1547513239%5. 3
51547513200, 4

Question Number : 126 Question Id : 6154753409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following groups of steps involved in the process of decision making 1s 1n
correct order?

(1) Identifying the criteria, developing alternatives, evaluating decision effectiveness.
defining the problem

(2) Evaluating the decision effectiveness. defiming the problem. developing alternatives.
identifying the eriteria

(3 Defiming the problem. identifving the criteria. developing alternatives, evaluating
decision effectiveness
(4) Defining the problem. developing alternatives. identifying the criteria, evaluating
decision effectiveness
Options:
154751530101
1547512202 2
1547512203 2
1547512204, 4

Question Number : 126 Question Id : 6154753409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol = =1 i § e = F FefeEa J9E 4 3 T 9E w4 27

(1)  =mEst il Te=W 1, [@%ed [9hEa F1, =g $1 T9i—aar =0 Gedihe, TEET B 9iEd we

(3)  HEHEN H GRHNNG AT, HYSS] i UEEW H, fawew fawtaa wwan, Fom i owetEar

(4) T F G F, G TEha 1, 9Esi # TEEE w1, Hum S wdiEeE

Options:

61547513201, 1
E15475123202. 2
61547512202,
61547512204, 4

Question Number : 127 Question Id : 6154753410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following groups of steps involved in new product development 1s 1n correct

order 7

(1) Concept development and testing. marketing strategy development. 1dea generation
and screening. product development

(2) Idea generation and screening, concept development and testing, marketing strategy
development. product development

(3) Marketing strategy development, 1dea generation and screening concept development
and testing. product development

(4) Concept development and testing. Idea generation and screening, product
development, marketing strategy development

Options:

615475132051
61547513306, 2
61547513307, 3
E1547513208. 4

Question Number : 127 Question Id : 6154753410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T ITUTE % TR A wiEe =N % e G9E § ¥ - GE wH ° R 7

(1)
(2)
(3)

(4)
Options:

HEIAT T S v, v S e, e g ei 5, 3eE e
fEam g5 311 e, Theu [EFm 1 s, fHovE FEE e, e HEe

faom T fo, == ge AR |, Sehes] S S aE, seg fa

e Tashr =0 wiew, faam gem #i e, S famwm, e weEt

515475132051
61547513206, 2
61547513307, 3
E1547513208. 4

Question Number : 128 Question Id : 6154753411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which

one of the following groups of functions of museum 1s 1n correct order according to the

ICOM definition of 20077

(1)
(2)
(3)
(4)

Options:

Conservation., Aquisition. Exhibition., Research
Research. Aquisition. Conservation, Exhibition
Research, Conservation. Exhibition, Aquisition

Aguisition, Conservation. Research. Exhibition

E1547513208. 1
E1547513210. 2



E1547513211. 3
61547513212 4

Question Number : 128 Question Id ;: 6154753411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
9 2007 =i ATSHE TCATN F FTEAT TUEEE F HE % ARG AHF § 9 H-91 98 A H A7

(1) T, AT, T2, SIEEH
(2)  ATEUH, AR, E, 19
(8)  FHUM, A, TEEE, HAfamE
(4) AfeTET, T, AFEGH, T

Options:

61547513209, 1
61547513210 2
1547512211 2
1547512212 4

Question Number : 129 Question Id : 6154753412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups of steps involved in collection management of a museum 1s In

correct order?

(1) Field survey. Collection. Accession., Storage
(2) Accession, Collection, Field Survey. Storage
(3) Collection. Field Survey, Storage. Accession

(4) Collection. Accession. Field Survey. Storage
Options:

615475135131

15475123214 2

61547512315 2

61547513516 4

Question Number : 129 Question Id : 6154753412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ol TeTe™ = o0 Fegiadl & U TEeO § W 90 % Heienad 59a § § FE-91 S5 w0 |

7

(1)  Fies O9&01, TUE0, THE0, HUSHT
(2) T, IR, $es THa0, YU
(3)  =Ew, Fies HAE0, HUSE, THE

(4) e, TAIF0, Fies Ha&u, HUSHm

Options:

615475132131
1547512214 2
1547512215 2
61547512216, 4

Question Number : 130 Question Id : 6154753413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following measures are included in museum security by daily practice?

(a) Mock dmlls

(b) Cloak-room operation
(c) Adhering to legal requirements
(d) Access control

Choose the correct option :

(1) (a). (c) and (d) (2) (b). (c) and (d)
(3) (c) and (d) (4) (a), (b), (c) and (d)
Options:

BE1547513217. 1
61547513218, 2
61547513319, 3
61547513320, 4

Question Number : 130 Question Id : 6154753413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. Tie

i

i e, il N o S s g i i~ 3 -
Ha&ed JLEA °§ HHeiigd 39 ° H Hhes g S99 O AN =641 3111 2 ¢

L e

(%) =+ ZA

(@) == 6 =

(1)  fatuw s & e

(a)  wEw w T

D (=), (7) =R (7) @ (=), (7) 3 (°)

(3 (m) 3k (@) @ (%), (@), (1) =1 (7)
Options:

515475132171
61547513218, 2
61547513319, 3
E15475132320. 4

Question Number : 131 Question Id : 6154753414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following museums are subordinate office of the Mimstry of Culture.
Government of India?

(a) National Museum. New Dellu

(b) National Gallery of Modern Art, New Delh1
0  IGRMS, Bhopal

(d) National Science Centre. New Delh1

Choose the correct option :

(1) (a) and (b) (2) (a), (b) and (c)
(3) (b). (c) and (d) (4) (a), (b). (c) and (d)
Options:

51547513221, 1
G1547513322 2
E1547513323. 3
E15475135324. 4

Question Number : 131 Question Id : 6154753414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

ffeafaa 5 1 F44 = Ep {JJJ@T& e, 9T BTN % S e 27
(a) A =gEm, 7 28

(b) e ] HATE HizA AR, 4% 2@

() =% St 2R ug uA, Wi

(d) e mEE He, 7

1)  (a) 3 (b) (2) (). () ¥R (c)
3) (). (c) ¥ () 4 (@). (b). (c) ¥ (d)
Options:

615475132211
E1547513322 2
61547513322 3
E15475132324. 4

Question Number : 132 Question Id : 6154753415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following consumer groups will come under Demographic Segmentation?

(a) Quality seeker

(b) Professionals

(c) People with disabilities

(d) Rural

Choose the correct option :

(1) (a). (b) and (c) (2) (b) and (c)

(3)  (b). (c) and (d) (4) (a). (b). (c) and (d)
Options:

E15475135325. 1
E15475132326. 2
B1547513327. 3
61547513328, 4

Question Number : 132 Question 1d : 6154753415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frferfioa # 9 =0 SUSRE FE SRR T S e w0 ¢

(a)  TUEE A
(b)  =EEEl
(c) o =

d) T H T

o - fa
2| 3’15-. qJ =HT .

1) (a). (b) = (c) 2) (b) #: (c)
3)  (b). () 31 (d) (4) (a), (b), (c) ¥ (d)
Options:

515475132251
61547513326, 2
E1547513327. 3
61547513328, 4

Question Number : 133 Question Id : 6154753416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements — one 15 labelled as Asszertion (A) and the other 1s labelled as

Reason (R).

Assertion (A): As soon as a work of art 1s acquired by a museum, 1t should be
immediately recorded accurately and permanently.

Eeason (R) : Because the records provide guidelines for preservation of the work of art.

In the hight of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true
Options:

15475122291

£15475123200 2

61547513531 2

1547513552 4

Question Number : 133 Question Id ;: 6154753416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= AR (A) #7995 (R) + =9 | 31 %99 fau o 2 .

ATTEI (A) : ST IS FATH TYEE g HUE £ o o Sl 7 39 qohe Hel I T F9 g
% (R) : T Afaemar (ferrs) & wengia I wegia sadr g 2w 7 2

I A FEl % AT | T e g

(1)  (A) 3 R) A1 T 7 7 (R). (A) Fi T8 = =)
(2)  (A) 3R (R) A1 721 & 30 (R). (A) i 781 == 74 2
(3) (A=A % g (R) T R

(4) (A) Td 7 T (R) =71 2|

Options:

61547513229, 1
615475133230 2
61547513331, 2
61547513332 4

Question Number : 134 Question 1d : 6154753417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 1s labelled as Assertion (A) and the other i1s labelled as
Eeason (R).
Assertion (A) : Fluorescent tubes should not be used 1n display of sculptures.

Eeason (R) : Because three dimensional objects are best seen 1n day light.
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 1= true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true



Options:

615475133331
15475123234 2
E15475123235 2
61547512226, 4

Question Number : 134 Question Id : 6154753417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr wfierer (A) # 7% (R) % =9 9 31 %99 fam 7w £

HATHTT (A) : it = waeia § i =g v E B s
 (R) : TR Fi-fadm aeqe foam wwm & wEm =9 A e 29 )

(1) (A) 37 (R) F41 78 # 371 (R). (&) F1 7 =me=n 2|

(2) (AR (R) 41 99 # 3 (R), (A) Fi 91 =5w=w 44 2
(3) (A) 1 # Tpg (R) Tod 7

(4)  (A) 7Tem ® g (R) =9 7

Options:

615475133331
6154751232324 2
615475123225 5
61547512326, 4

Question Number : 135 Question Id : 6154753418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reaszon (R).
Assertion (A) : Ethics of museum education need to be followed by museum educators.
Reason (R) : Violation of ethics leads to punishment.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 18 not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(1) (A) 1s false. but (R) 1s true
Options:

6154751355371

615475135568, 2

51547513529 2

154751232340 4

Question Number : 135 Question Id : 6154753418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hr wfiERee (A) 3 T6 (R) 5 &9 4 21 %9 fou 7 #

HATFT (A) : oI % WS S e % Naf AR ST O S ST
2l
T (R) : AeAforR ATEE o IgEE & TR0 TEY 3UE 1 9E S S 2

SULT 21 HYAT F ATATE H WAl ey g

(1) (A #RR) 2F 7 F 3R (R). (A) F 7 = 2
(@) (A 3R R) 3 T E =R (R), (A) F wE =men 17 2
(3 (AT R) A 2

(4 (A 7TeE 7 T R) 79 F

Options:



E1547513237. 1
61547513228, 2
61547513235, 3
61547513340, 4

Question Number : 136 Question Id : 6154753419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements — one 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Publicity carries more credibility than advertising.

Reason (R) : Publicity takes usually a form of news and 1s a part of media content which
makes the message's ultimate source ambiguous to the audience. In

advertising. the source 1s readily 1dentified.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (4)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1s false, but (R) 18 true
Options:

15475125411

61547513542 2

15475132242 2

15475132244 4

Question Number : 136 Question Id : 6154753419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= a9 (A) A7 % (R) F =9 H 31 %99 fae o 2

ATFIE (A) fasm it g § vw i wAtaF avasHEa 2|

T 9T BT & T9EE A HEW W AGA GG ATES 6 fow w@igrarei = Am 2

o= & =| i goy TeEE = A
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(1)  (A) 3R (R) 391 =81 & 31 (R), (A) F1 971 == 2|
(2) (A 3R (R) = ==t 7 317 (R), (A) F1 751 =30 75 2
(3) (A TF ? g (R) T 2

(4 (A) T=E ® e (R) T 2

Options:

61547513341, 1
E15475123242 2
61547512242, 5
61547512244 4

Question Number : 137 Question Id : 6154753420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  The shortest path in the network analysis diagram 1s the critical path.

Reason (R) : All activities on the cmtical path must be completed in the designated

time, otherwise the whole project will be delayed.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 18 not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:

61547513345,
61547513346,
£1547513347.
E1547513248,

[ N

Question Number : 137 Question Id : 6154753420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (A) =7 (R) 391 78 £ 1 (R). (A) Fi 7 == 2|
(2)  (A) 3 (R) 241 TF E 3R (R). (A) Fi 581 =aw= 78 2
3) (&) T2 g ®) T 2

(4) (A) 79 # T (R) 791 2|

Options:

61547513545 1
61547512246 2
61547513347 2
61547513348 4

Question Number : 138 Question 1d : 6154753421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A): A wvisitor to Film Archives, Pune smells a peculiar odour.

Reason (R) : This odour emanates from vinegar used 1n the preservation of old films

stored there.
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 18 true
Options:

1547512249 1

E154751=2350 2

61547512351 2

61547513352 4

Question Number : 138 Question Id : 6154753421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

A wATaweE (A) 3T 9% (R) = &9 § 31 %94 120 70 #

HTFIT (A) : TiEen ATYEEIT, Yo7 = AT B (S 79 WH B
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Options:



E15475132459. 1
61547513250, 2
51547513251, 3
61547513352 4

Question Number : 139 Question Id : 6154753422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(Given below are two statements — one is labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A): A museum can decide to deaccession an object from its collection only on
the basis of scientific investizations.

Reason (R) : Scientific 1nvestigation 1s a reliable method of determinming fakes and

forgeries.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 18 not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

15475153551

1547512354 2

1547512355 2

1547512356 4

Question Number : 139 Question 1d : 6154753422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= wAfERY (A) 37 9% (R) F =9 § 31 %99 f2u 7 #
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(1) (A 3 (R) A g8 & 7 (R). (A) Fit w81 == 2

(2)  (A) 3 (R) 31 @8 2 3R (R), (A) F wé =men 77 2
(3) (AT & g R) A F

(4) (A) Ta 7 T (R) 591 2

Options:

615475133531
61547513354 2
61547513355 2
15475123256 4

Question Number : 140 Question Id : 6154753423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : P.T. Barnum made gifts of animal skeletons, hides and other materals
chiefly to the Smithsonian Institution and American museum of Natural
History.

Reason (R) : Because his New American museum was burned in 1868.

In the light of the above two statements choose the correct option :

(D
(2)
(3)

)]

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

B1547513357. 1
61547513358, 2
61547513359, 3
61547513360, 4

Question Number : 140 Question Id : 6154753423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475123571

615475133568 2

61547513255, 3
61547513260, 4

Sub-Section Number: 2
Sub-Section 1d: 615475152
Question Shuffling Allowed : Yes

Question Id : 6154753424 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label @ Comprehension



Eead the following passage carefully and answer the Q. 91-95.

In January 2011. the MIT Museum unveiled the largest single exhibition that 1t has ever
attempted. Spread across three sites (the MIT Museum itself, the Compton Gallery located
in Massachusetts Institute of Technology's [MIT] main buildings, and the Maihaugen
Gallery 1n the Institute's Archives and Special Collections) and occupying a total of around
7.500 square feet, the MIT 150 Exhibition brought together 150 artifacts chosen for their
collective ability to evoke the spirit of the Massachusetts Institute of Technology on the
occasion of 1ts 150th anniversary.

This was no ordinary array of artifacts. For one thing. it comprised an almost bewildering
variety of materals, from archival documents recording the founding of the institute.
through all manner of scientific. technological, engineering, art. and design objects, to a
number of positively quirky items, including the remains of an old piano. dropped from the
roof of MIT's Baker House five-story dormitory on “drop day" (get it?). the last day of the
2010 spring semester on which students were entitled to drop a class. For another, it was the
result of an 18-month crowdsourcing experiment, in which members of the extended MIT
community were invited to nominate artifacts for inclusion in the exhibition. With nearly
900 nominations for just 150 slots. a considerable amount of curatorial discretion was
inevitably involved in the final selection: nevertheless to a significant degree the exhibition
was the product of collective intelligence (for example. the Baker House Piano Drop was the
clear winner in an online popularity contest among all the nominated artifacts. and after
that there was never any doubt that it would be included in the show).

The MIT 150 Exhibition was a three-dimensional institutional autoblography. From the
outset, the aim was to capture the culture of the place. not through a mere chronoclogy of
events, but through an assembly of what exhibition curator Debbie Douglas, following the
lead of our MIT colleague Sherry Turkle, chose to call "evocative objects."” And evocative they
certainly were. For although the show was presented as an array of artifacts, it felt hike
nothing quite so much as a collection of stories about every umaginable aspect of MIT Lfe
past and present. Some of these storles were personal vignettes, where as others were
nationally or internationally significant events. but what they all had 1n common was that
they were anchored in—I feel compelled to say: they were amimated by — a collection of
Inanmimate. unspeaking objects

Take, for example, what was surely the humblest of all the artifacts to find 1ts way 1nto the
exhibition: a perfectly ordinary tape measure, of the sort that can be found in millions of
homes across America. What distinguished this artifact (which 13 now in the collections of
the MIT Museum) was certainly not its nature. which was thoroughly prosaic. but rather its

provenance.
Sub questions

Question Number : 141 Question Id : 6154753425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The criteria for selecting artifacts for the exhibition was their ability to :

(1) Communicate Scientific Principles

(2) Invoke Spirits

(3) Bring feelings and memories into the mind
(4) Present historv of the MIT

Options:

61547513361, 1
E1547513362. 2
E1547513563. 3
E1547513564. 4

Question Number : 142 Question Id : 6154753426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ‘drop day refers to the day when students can.

(1) drop a Piano from the roof
(2) drop any property of the institute from the roof

(3) unenroll from a course
(4) celebrate the end of the semester
Options:

51547513265, 1
615475132366, 2
61547513367, 3
61547513368, 4

Question Number : 143 Question Id : 6154753427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
All of the following can be inferred from the passage EXCEPT

(1) Alumni of the MIT participated in the process of selecting artifacts for the exhibition
(2) The curator playved a major role in final selection of the exhibits

(3) The MIT has been participating 1n international events

(4) All the exhibits presented full stories

Options:

615475135691

61547513370 2

61547513571 2

E1547513372. 4

Question Number : 144 Question 1d : 6154753428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



All of the following statements about the ‘tape measure’ displayed in the exhibition are
correct EXCEPT

(1) It was the most ordinary object 1n the exhibition

(2) It was a dull object by 1ts very nature

(3 It was selected because of its importance in Industry

(4) It was selected because of its background history

Options:

615475133731
61547513374 2
6154751233275 2
1547513276 4

Question Number : 145 Question Id : 6154753429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Baker House Piano Drop was included 1n the hist of selected exhibits because

(1) the students of MIT were attached to it

(2) the sponsors of the exhibition thought it would give them a good publicity

(3) creator of the exhibition were short of exhibits
(4) in an online contest, this was choosen by most of the participants
Options:

6154751323771
61547513378, 2
61547513379, 3
E15475132380. 4

Question Id : 6154753424 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 141 Question Id ;: 6154753425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547513261, 1
61547513362 2
61547513363 2
61547513364 4

Question Number : 142 Question 1d : 6154753426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547513365, 1
61547513366, 2
E1547513367. 3
E1547513368. 4

Question Number : 143 Question Id : 6154753427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475123689 1

E1547513270. 2
B15475132371. 3
B15475132372. 4

Question Number : 144 Question 1d : 6154753428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TRt § wafea A Eer (39 i) F A § Fretetas w8 ¥ #5816 27
(1) =7 Y=ol ° TaF STgEo Fensid 9

(2) =& AT T @ i UH A Ferrpid o

(3) =W 3= H 3G Hacd o RO o1 AT A7

(4 =9 3EF TH-3faEm & w0 A

Options:

615475133731
61547513374 2
615475123375 2
615475123276, 4

Question Number : 145 Question Id : 6154753429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475133771
61547513378 2
61547513379, 2
615475133280 4

Sub-Section Number: 3
Sub-Section 1d: 615475153
Question Shuffling Allowed : Yes

Question Id : 6154753430 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension



Read the following passage carefully and answer the Q. 96-100.

This article explores the Memories Are Made in the Kitchen project. conducted by the
Canada Science and Technology Museums Corporation (CSTMC) between 2012 and 2014.
The project had two main goals: to bring the food-processing artifact collection up to date
and to preserve a snapshot of Canadian kitchens at the beginning of the second decade of the
twenty-first century for future historians.

The project allowed the CSTMC's curatorial staff to invert their well-established acquisition
process. Rather than collect historical artifacts and documentation as pieces of evidence for
contemporary historians, the museum collected contemporary technologies and
supplementary information for future historians, who may want to study the subject several
decades from now. Despite being firmly based in the collection development strategy and the
material Culture. material-semiotic. and materiality methodologies, collecting contemporary
technologies posed some particular challenges and required novel approaches. Curatorial
expertise was complemented by a crowdsourcing and soclal media campailgn to 1dentify and
document artifacts that best reflect domestic technologies used by Canadians today. In
addition to more traditional printed and audiovisual resources. social media were also used
to collect intangible information crucial to future research such as consumer behavior and
evidence of societal perception of kitchen appliances. Non material data, such as sounds and
software, were also preserved for future researchers.

Sub questions

Question Number : 146 Question 1d : 6154753431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The passage implies that the museum

(1) Already had a historical collection of food processing artifacts

(2) Did not have a historical collection of food processing artifacts

(3) Intended to collect historical food processing artifacts for the project
(4) Wanted to improve quality of 1ts food processing artifact collection
Options:

615475135651, 1

61547513582 2

61547513283 2

15475123584 4

Question Number : 147 Question Id : 6154753432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The museums’s acqguisition policy 1n practice included

(1) collecting artifacts from the past

(2) collecting artifacts from the past as well as the present
(3 collecting artifacts from the present

(4) collecting future artifacts

Options:

615475125551

61547513586 2



E1547513387. 3
51547513288, 4

Question Number : 148 Question Id : 6154753433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following could be inferred from the passage EXCEPT?

(1) The museum used newspapers to collect information for future research

(2) The museum used television to collect information for future research

(3) The museum used facebook and twitter to collect information for future research
(4) The museum used telephone to collect information for future

Options:

E15475135389. 1
E154751323390. 2
61547513251, 3
61547513392 4

Question Number : 149 Question 1d : 6154753434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of the passage ‘crowd sourcing’ means

(1) Involving large number of internet users to develop content for the exhibition
(2) Raising funds from masses

(3) Attracting crowds of visitors to the museum

(4) Extending museum services to widely scattered groups of people

Options:

515475132931
61547513394, 2
E15475133395. 3
E15475135596. 4

Question Number : 150 Question Id : 6154753435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The project was used to collect information about
(1) Culinary art of Canada

(2) Societal perception of kitchen apphances
(3) Kitchen atmosphere in Historical Canada

(4) Indigenous ingredients used 1n Canadian kitchen
Options:

£1E547512297.1

15475122598, 2



E1547513239%5. 3
51547513400, 4

Question Id : 6154753430 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question Id : 6154753431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(2) oIS T @rE TEER FATECE F UAaaE T0E Tal 91
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Options:
615475135511

E1547513382. 2
E1547513283. 3
51547513284, 4

Question Number : 147 Question Id ;: 6154753432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475135385. 1
B1547513386. 2
615475132387, 3
61547513388, 4

Question Number : 148 Question 1d : 6154753433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547513389, 1

61547513390, 2

E1547513291. 3
E15475132392. 4

Question Number : 149 Question Id ;: 6154753434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475132931
15475123294 2
£15475123295 2
615475123296, 4

Question Number : 150 Question Id : 6154753435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154751354971
615475123298, 2
615475123299,
61547513400, 4



